
 PBR Panel

____________________________________

       www.metalmax.com

MAXLOC

 Installation Manual



 Table of Contents 

MaxLoc Standing Seam Roof Panel Details 

  Detail Number 

EExtended Eave.......…………………………………………………………………………….....1.0 

EExtended Eave with Gutter...........................................................................2.00

EExtended Eave Lap........................................................................................3.00

 Flush Eave..........…………………………………………………………………………………...4.0 

 Drip Edge Gable.........................................................................................5.000 

BBox Gable…………………………………………………………......................................6.0 

VValley........................................................................................................7.0 

W-Valley....................................................................................................8.000

  Side Wall with Surface Mount Counter Flashing.......................................9.000

  Side Wall with Reglet Counter Flashingg.................................................10.000

  High Wall with wall Panel Sill…………………………………….............................11.0

 High Wall with Surface Mount Counter Flashing……………………………………12.0

 High Wall Trim Lap....................................................................................14.0
0Hip and Ridge Cap....................................................................................15.0

 www.metalmax.com

High Wall with Reglet Counter Flashing...................................................13.0



Individual Trim Drawings by Trim Description (These sheets can be 
used to order the par�cular trim indicated on the page, to include, 
quan�ty, Color, and Metal Gauge. There is also a blank page to use 
in the event a trim has to be custom made. 

MaxLoc Standing Seam Roof Panel Trims

www.metalmax.com

HHip and Ridge Cap Lap...........................................................................16.00
  Peak /High side Eave..............................................................................17.0

  Gambrel Roof Transition........................................................................18.020

  Slope Transition.....................................................................................19.0210

 Slope Transition at Membrane Roofing.................................................20.0220
 Curb Detail: Steps 1 through 6 ..............................................................21.0230
 Pipe Penetration....................................................................................22.0240
 Pipe Penetration through SS Rib...........................................................23.0250
 Zee Closure Installation.........................................................................24.0260
 Panel End, Field Hem.............................................................................25.0270

EExtended Eave
  5" Gutter
EExtended Gable
BBox Gable
VValley
  W-Valley
  SideWall
  Sill
  Surface Mount Counter Flashing
  Reglet Counter Flashing
  Hip and Ridge
  Peak /High-Side Eave
  Peak Cleat



MaxLoc Custom Trim Sheet (for use if custom trim is required) 

Custom Trim Sheet

www.metalmax.com

 Gambrel Transition
 Slope Transition
 Slope transition at Membrane Roof
 Zee Closure
 Offset Cleat 
 Fascia Cleat



MaxLoc Standing Seam Roof Panel Details

www.metalmax.com



EXTENDED EAVE DRIP EDGE, 4" END LAPS

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 8" O.C.

PLYWOOD SUBSTRATE

SINGLE LAYER OF  UNDERLAYMENT

METALMAX MAXLOC PANEL

#10-12 x 1" PANCAKE HEAD WOOD SCREW, 2 PER EAVE (TYP.)

Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

MaxLoc Extended Eave Detail

NTS = NOT TO SCALE

Plywood



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood 

5" GUTTER, 2 ROWS OF APPROVED
SEALANT.  RIVET @ LAPS 2" O.C.

18 GA. GALVANIZED STEEL
HIDDEN HANGER @ 24" O.C.

EXTENDED EAVE DRIP EDGE, 4" END LAPS

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 8" O.C.

SINGLE LAYER OF UNDERLAYMENT

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

#10-12 x 1" PANCAKE HEAD WOOD SCREW, 2 PER EAVE (TYP.)

MaxLoc Extended Eave with Gutter



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

OVERLAP

NOTCH OUT UPPER AND LOWER BENDS
IN FLASHING TO BE LAPPED

DOUBLE ROW OF
APPROVED TUBE
SEALANT

4"

     MaxLoc Extended Eave Lap Detail

Plywood



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

#10-12 X 1" PANCAKE HEAD
WOOD SCREW @ 8" O.C.

SINGLE LAYER OF UNDERLAYMENT

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

 OFFSET CLEAT

EAVE DRIP

#10-12 x 1" PANCAKE HEAD WOOD SCREW, 2 PER EAVE (TYP.)

MaxLoc Flush Eave Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

EXTENDED GABLE DRIP EDGE, 4" END LAPS

#10-9 X 1" PANCAKE HEAD
WOOD SCREW @ 8" O.C.

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

UNDERLAYMENT

#10-12 x 1" PANCAKE HEAD WOOD SCREW

MaxLok Extended Drip Edge Gable Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

ZEE CLOSURE, 4" END LAPS

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 12" O.C.

#10-12 X 1" PANCAKE FASTENER @ 8" O.C.

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

1/8" X 1/4" PAINTED STAINLESS RIVET  @ 18" O.C.

BOX GABLE TRIM, 4" END LAPS

PANEL LEG OR FIELD FORM PANEL LEG

UNDERLAYMENT

DOUBLE BEAD BUTYL TAPE SEALANT

CLEAT

#10-12 x 1" PANCAKE HEAD WOOD SCREW

 MaxLoc Box Gable Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

        MaxLoc Valley Detail

6" MIN.

METALMAX MaxLok Panel

WOOD SUBSTRATE

CONTINUOUS 24 GAUGE OFFSET CLEAT

#10-9 X 1" PANCAKE HEAD WOOD SCREW @ 8" O.C. (TYP.)

STRIP IN VALLEY FLASHING W/ UNDERLAYMENT

CUT BACK VERTICAL PANEL LEGS AND FIELD FORM
PANEL AROUND OFFSET

VALLEY FLASHING, 12" END LAPS W/ 2
ROWS OF SEALANT AT LAPS

UNDERLAYMENT

FILL END OF PANEL RIB W/ SEALANT,
FOLD TAB AROUND RIB



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

METALMAX MAXLOC PANEL

WOOD SUBSTRATE

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 8" O.C.

 UNDERLAYMENT

CUT BACK VERTICAL PANEL LEGS AND FIELD FORM
PANEL AROUND OFFSET.

 VALLEY FLASHING, 12" END LAPS

UNDERLAYMENT CENTERED IN VALLEY

FILL END OF PANEL RIB W/ APPROVED SEALANT
FOLD TAB AROUND RIB FOR CLOSURE

OFFSET CLEAT

4" MIN.

 MaxLoc W-Valley Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

MaxLoc  Valley Lap Detail

12" LAP

DOUBLE ROW OF APPROVED TUBE SEALANT

FASTEN VALLEY AT TOP END UNDER LAP



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

PANEL LEG OR FIELD FORM PANEL LEG

MASONRY ANCHOR AT 18" ON CENTER

SURFACE MOUNTED COUNTER FLASHING WITH 4" END LAPS

CONTINUOUS BEAD OF SEALANT

6"
 M

IN
.

SIDEWALL FLASHING WITH 4" END LAPS

1/8" X 1/4" STAINLESS STEEL RIVET @ 18" O.C.

ZEE CLOSURE FASTENED WITH #10-9 X 1
PANCAKE HEAD SCREW

BUTYL TAPE

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

#10-9 x 1" PANCAKE HEAD WOOD SCREW

 MaxLoc Side Wall with Surface Mount Counter Flashing Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

PANEL LEG OR FIELD FORM PANEL LEG

CONTINUOUS BEAD OF SEALANT IN REGLET CUT

REGLET FLASHING WITH 4" END LAPS

SIDEWALL FLASHING WITH 4" END LAPS

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

6"
 M

IN
.

           MASONRY THRU-WALL FLASHING (BY OTHERS)

1/8" X 1/4" STAINLESS STEEL RIVET @ 18" O.C.

ZEE CLOSURE FASTENED WITH #10-9 X 1 PANCAKE HEAD SCREW

CONTINUOUS ROW OF BUTYL TAPE

MASONRY ANCHOR @ 18" O.C.

#10-9 x 1" PANCAKE HEAD WOOD SCREW

 MaxLoc Sidewall with Reglet Counter Flashing Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

CONTINUOUS BEAD OF SEALANT

HIGHWALL COUNTER FLASHING WITH 4" END LAPS

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW @ 3" O.C.

1/8" X 1/4" PAINTED STAINLESS STEEL RIVET @ 18" O.C.

3/16" X 7/8" BEAD BUTYL TAPE

#10-9 X 1" PANCAKE HEAD WOOD SCREW @ 8" O.C.

SILL TRIM W/ #10-9 X 1" PANCAKE HEAD WOOD SCREW

WALL PANEL

METALMAX MAXLOC PANEL

#10-9x1" PANCAKE HEAD WOOD SCREW

        MaxLoc High Wall with Sill Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

CONTINUOUS BEAD OF SEALANT

CONTINUOUS BEAD OF SEALANT

HIGHWALL COUNTER FLASHING WITH 4" END LAPS

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

ZEE CLOSURE

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 3" O.C.

1/8" X 1/4" PAINTED STAINLESS STEEL RIVET @ 18" O.C.

SINGLE LAYER OF UNDERLAYMENT

3/16" X 7/8" BEAD BUTYL TAPE

SURFACE MOUNTED COUNTER FLASHING WITH 4" END LAPS

MASONRY ANCHOR @ 18" O.C.

#10-12x1" PANCAKE HEAD WOOD SCREW

   MaxLoc High Wall with Surface Mount Counter Flashing Detail 



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

CONTINUOUS BEAD OF SEALANT

SEALANT IN REGLET CUT

REGLET WITH 4" END LAPS

HIGHWALL WITH 4" END LAPS

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW @ 3" O.C.

1/8" X 1/4" PAINTED STAINLESS STEEL RIVET @ 18" O.C.

SINGLE LAYER OF APPROVED
UNDERLAYMENT

3/16" X 7/8" BEAD BUTYL TAPE

MASONRY THRU-WALL FLASHING (By Others)

MASONRY ANCHOR @ 18" O.C.

#10-9x1" PANCAKE HEAD WOOD SCREW

     MaxLoc High Wall with Reglet Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

Plywood

MaxLoc Highwall Lap Detail

NOTCH OUT HEM IN
FLASHING TO BE LAPPED

DOUBLE ROW OF TUBE
SEALANT

OVERLAP

4"

POP RIVETS AT LAP



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

CONTINUOUS BEAD OF SEALANT

RIDGE CAP OR HIP CAP WITH 4" END LAPS

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

ZEE CLOSURE

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 3" O.C.

1/8" X 1/4" PAINTED STAINLESS STEEL RIVET @
18" O.C.

3/16" X 7/8" BEAD BUTYL TAPE SEALANT

SINGLE LAYER OF
UNDERLAYMENT

#10-12x1" PANCAKE HEAD WOOD SCREW

MaxLoc Hip and Ridge Cap Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

MaxLoc Ridge and Hip Lap Detail

2 ROWS OF TUBE SEALANT PER SIDE

4"

NOTCH HEMS IN RIDGE CAP

LAP

POP RIVETS AT LAP



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

CONTINUOUS BEAD OF SEALANT

PEAK FLASHING WITH 4"
END LAPS

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

 ZEE CLOSURE

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 3" O.C.

1/8" X 1/4" PAINTED STAINLESS STEEL RIVET@ 18" O.C.

CLEAT (24 GA.
GALVANIZED STEEL)

#10-12 X 1" PANCAKE
HEAD WOOD SCREW @
8" O.C.

3/16" X 7/8" BEAD BUTYL TAPE

SINGLE LAYER OF UNDERLAYMENT

#10-12x1" PANCAKE HEAD WOOD SCREW

MaxLoc Peak / High Side Eave Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

GAMBREL FLASHING WITH 4" END LAPS

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

ZEE CLOSURE

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 3" O.C.

1/8" X 1/4" PAINTED STAINLESS
STEEL RIVET  @ 18" O.C.

3/16" X 7/8" BEAD BUTYL TAPE
UNDER ZEE CLOSURE

SINGLE LAYER OF UNDERLAYMENT

OFFSET CLEAT SET IN 3/16" X 7/8" BUTYL TAPE

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 8" O.C.

FILL END OF PANEL RIB WITH
SEALANT FOLD TAB AROUND RIB FOR

CLOSURE

STRIP-IN GAMBREL FLASHING

CONTINUOUS BEAD OF TUBE SEALANT

MaxLoc Gambrel Roof Transition Detail

AutoCAD SHX Text
THERMAL EXPANSION



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

SLOPE TRANSITION FLASHING WITH 4" END LAPS

WOOD SUBSTRATE

METALMAX MAXLOC PANEL

ZEE CLOSURE

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 3" O.C.

1/8" X 1/4" PAINTED STAINLESS STEEL RIVET @ 18" O.C.

3/16" X 7/8" BEAD BUTYL TAPE

SINGLE LAYER OF UNDERLAYMENT

CONTINUOUS OFFSET CLEAT SET IN CONTINUOUS 3/16" X 7/8" BUTYL TAPE
SEALANT

#10-12 X 1" PANCAKE HEAD WOOD SCREW @ 8" O.C.

STRIP IN SLOPE TRANSITION FLASHING WITH FIELD COURSE  OF
UNDERLAYMENT

MaxLoc Slope Transition Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

#10-9 X 1" PANCAKE HEAD WOOD SCREW @12" O.C.

METALMAX MAXLOC PANEL

STRIP IN TRANSITION FLASHING  WITH FIELD
COURSE OF APPROVED UNDERLAYMENT

TRANSITION FLASHING WITH 12" END LAPS

MEMBRANE ROOFING, EXTEND UNDER
ROOF PANELS MIN. 24"

FILL END OF PANEL RIB W/ APPROVED SEALANT
FOLD TAB AROUND RIB FOR CLOSURE

WOOD SUBSTRATE

8"
 M

IN
.

CONTINUOUS BEAD OF SEALANT BETWEEN MEMBRANE
ROOFING AND TRANSITION FLASHING

 MaxLoc Slope Transition at Membrane Roofing Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

Plywood

MaxLoc Curb Detail - Step 1

INSTALL PANELS AROUND
CURB. FIELD FLATTEN

OFFSET IN MALE LEG

2" NOM.
REMOVE TOP OF

FEMALE LEG

SEE DETAIL A1

DETAIL A1

DETAIL A2

MALE LEG SHOWN
CUT BACK FOR

CLARITY
FLATTEN OFFSET

IN MALE LEG

12" M
IN.

FIELD FORM LEGS
AGAINST CURB SIDES
MIN. 1" HIGH

REMOVE LOWER HOOK
OF FEMALE LEG TO
ALLOW OVERLAPPING

SEE DETAIL A2

STEP  1

PANELINSTALLATION

DIRECTION



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

Plywood

MaxLoc Curb Detail - Step 2

INSTALL ZEE CLOSURE W/
SCREWS @ 4" O.C. (TYP.)

INSTALL BUTYL TAPE
ON EACH SIDE TO

SEAL BETWEEN ZEE
CLOSURE AND PANEL

PANELINSTALLATION

DIRECTION

INSTALL ZEE CLOSURE OVER
DOUBLE BEAD BUTYL

STEP  2



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

Plywood

MaxLoc Curb Detail - Step 3

SIDEWALL - HOOK HEM ONTO
ZEE CLOSURE

FIELD FORM TABS TO RETURN
AROUND SIDES OF CURB

FIELD FORM TABS TO RETURN
AROUND HIGH END OF CURB

HIGHWALL - HOOK HEM
ONTO ZEE CLOSURE

SIDEWALL - HOOK HEM ONTO
ZEE CLOSURE

PANELINSTALLATION

DIRECTION

INSTALL SIDEWALL AND
HIGHWALL ON ZEE CLOSURE

STEP  3



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

Plywood

MaxLoc Curb Detail - Step 4

APPLY SEALANT AT
TRIM LAPS (TYP.)

FIELD FORM TABS

REMOVE PANEL MAT'L EACH SIDE 

SET FLASHING AND FIELD TRACE AGAINST CURB

TO DETERMINE TRIM PROFILE PRIOR TO CUT

AFTER FIELD TRACING PROFILE

INSTALL 2 LAYERS OF
BUTYL TAPE  UNDER

PERIMETER OF LOW WALL

FIELD FORM LEG, 11
4" MIN. HEIGHT

FIELD FORM LEG 11
4"

 MIN. HEIGHT

FOLD 

FO
LD

REMOVE EXCESS

LOW WALL

16" M
IN.

FASTENER  (AS REQUIRED)

INSTALL LOW WALL
STEP  4



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

Plywood

MaxLoc  Curb Detail - Step 5

CONTINUOUS CLEAT SET 
IN SEALANT FASTEN @ 4" 
O.C. (TYP.)

INSTALL FIELD HEMMED UPPER PANELS
OVER LOW WALL ONTO CLEAT

SEALANT @ ZEE & LOW
WALL INTERSECTION,
BOTH SIDES OF CURB

PANCAKE HEAD FASTENER @ OVERLAP

8" M
IN.

8" M
IN.

LAP

'A'

'A'

INSTALL CLEAT AND
PREPARE FOR UPPER PANEL

INSTALLATION

STEP  5

PANELINSTALLATION

DIRECTION



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

Plywood

MaxLoc Curb Detail - Step 6

INSTALL FINAL UPPER
PANEL OVER LOW WALL
FLASHING ONTO CLEAT

'A'

INSTALL FINAL SEAL AND
FASTEN AS REQUIRED

STEP  6



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

CONTINUOUS BEAD OF SEALANT AROUND
TOP OF BOOT

LEAVE MINIMUM 1/2" CLEARANCE
AROUND PENETRATION

SET SECUREMENT RING IN BEAD
OF TUBE SEALANT

12-14 X 1" S.D. W/ WASHER @ 1" O.C.

PIPE BOOT

WOOD SUBSTRATE

UNDERLAYMENT

STAINLESS STEEL PIPE CLAMP

CONTINUOUS TUBE SEALANT AROUND
BASE OF PIPE

1"

MINIMUM 1" BETWEEN FLANGE OF
BOOT FLASHING AND PANEL RIBS

MaxLoc Pipe Penetration Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

WOOD FRAMING

ZEE CLOSURE, WITH
CONTINUOUS BEAD OF TUBE
SEALANT

1/8" x 1/7" STAINLESS RIVET @
2" O.C. MAX.

APPLY CONTINUOUS BEAD
OF TUBE SEALANT
AROUND PERIMETER OF
ZEE CLOSURE.

LEAVE 1/2" CLEARANCE
AROUND PENETRATION FOR
EXPANSION

SL
OP
E

SECTION 1

CONTINUOUS BEAD OF
SEALANT AROUND TOP OF

BOOT

12-14 X 1" S.D. W/ WASHER, @
1" O.C.

 PIPE BOOT

STAINLESS STEEL PIPE
CLAMP

SET SECUREMENT RING IN
BEAD OF APPROVED SEALANT

CONTINUOUS  TUBE
SEALANT AROUND BASE OF
PIPE AND TRIM CAP

LINE OF ZEE CLOSURE
BELOW

INSTALL TRIM CAP,
HEMMING EDGES OVER
ZEE CLOSURE1/8" x 1/4" STAINLESS RIVET

TRIM CAP

ZEE CLOSURE, SET IN
CONTINUOUS BEAD OF TUBE

SEALANT

CONTINUOUS  BEAD OF TUBE
SEALANT AROUND PERIMETER

OF ZEE CLOSURE

SECURE ZEE CLOSURE WITH
RIVET @ 2" O.C. MAX.

SECTION 1

3" MIN.*

FIELD-FORM HEMS

SECURE TRIM CAP WITH 1/8" x
1/4" STAINLESS RIVETS @ 8"
O.C.

ALLOW FOR MINIMUM
1/2" CLEARANCE
AROUND PENETRATIONSL

OP
E

FOLD

FOLD

FOLD

FOLD

FIELD-FORM TRIM CAP
TO BE INSTALLED
OVER ZEE CLOSURE
FRAME

MaxLoc Pipe Penetration Through SS Rib Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

SLOPE

CONTINUOUS BEAD OF
SEALANT ADJACENT TO
PANEL RIBS

4 SCREWS PER ZEE MINIMUM OR
3" O.C.

INSTALL 7/8" DOUBLE BEAD
BUTYL TAPE TO UNDERSIDE OF
ZEE CLOSURE

FIELD CUT ZEE
CLOSURE TO FIT
BETWEEN PANEL RIBS

MaxLoc Zee Closure Installation Detail



Detail No.:

Description:

Substrate:

MetalMax Roofing and Siding
900 Captain Joe Fulghum Dr.
Murfreesboro, TN 37129
(615)494-1693
www.MetalMax.com

NTS = NOT TO SCALE

Plywood

MIN. 1"

1: FIELD NOTCH RIBS AND
REMOVE

2: ENGAGE PANEL HEMMING
TOOL OVER FLAT PART OF
PANEL TO ACCEPT OFFSET
CLEAT

3: BEND TO FORM OPEN HEM

SEE DETAIL A-1

DETAIL A-1

MaxLoc Panel End, Field Hem Detail



  www.metalmax.com

MaxLoc Standing Seam Roof Panel Trims



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc Extended Eave

VARIES

Denotes finished side.F

 ANGLE 'A'

1:12 95
2:12 99
3:12 104
4:12 108
5:12 113
6:12 117
7:12 120
8:12 124
9:12

10:12
11:12
12:12

Slope Degrees

127
130
133
135

F

150°

41
4"

'X'

3
4"

1
2" CLOSED

11
4"

'A' SEE CHART

'X' FACE DIMENSION VARIES (11
4", 2", 3", 4", 5", 6")



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

Denotes finished side.F

17"

MaxLoc 5" Gutter

1
2" CLOSED

3
4"

3
4"

3
4"

41
4"

53
4"

41
4"

5"

90°

90° 90°F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

Denotes finished side.F

'X' FACE DIMENSION VARIES (2", 3", 4", 5", OR 6")

'X'

1"

41
2"

3
4"

1
2" CLOSED

MaxLoc Extended Gable Drip Edge

VARIES

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLok Box Gable

VARIES

F

Denotes finished side.F

4"

3
4" OPEN

'X'

1
2" OPEN

3
4"

'X' FACE DIMENSION VARIES (41
4", 51

4", OR 63
4")

90°

150°



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc Valley

Denotes finished side.F

24"

 ANGLE 'X'

1:12 173
2:12 168
3:12 160
4:12 154
5:12 148
6:12 143
7:12 139
8:12 135
9:12

10:12
11:12
12:12

Slope Degrees

130
126
123
120

1
2" OPEN

111
2"

1
2" OPEN

111
2"'X'

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc W-Valley

24"

Denotes finished side.F

 ANGLE 'X'

1:12 173
2:12 168
3:12 160
4:12 154
5:12 148
6:12 143
7:12 139
8:12 135
9:12

10:12
11:12
12:12

Slope Degrees

130
126
123
120

1
2" OPEN

101
2"

1"
60°

1
2" OPEN

101
2"'X'

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

Denotes finished side.F

MaxLoc Sidewall

VARIES

43
4"

'X' 3
4" OPEN

'X' FACE DIMENSION VARIES (21
2" OR 4")

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

      MaxLoc Highwall 

101
4"

Denotes finished side.F

F31
2"

3
4" OPEN

6"

'X'



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

        MaxLoc Sill 

8"

Denotes finished side.F

3"

1"

11
4"

3
4"

F

11
4"

3
4"



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

         MaxLoc Surface Mounted Counter Flashing

53
4"

Denotes finished side.F

F

1
2" CLOSED

1
2" CLOSED

3
4"

1"

11
2"

3
4"

3
4"

132°

132°

150°



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

    MaxLoc Reglet

53
4"

Denotes finished side.F

1
2"

1"

45°

3"

1
2" OPEN

3
4"

33
4"

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

Denotes finished side.F

F

MaxLoc Hip and Ridge Cap

VARIES

'X' FACE DIMENSION VARIES (51
4", 61

4", OR 71
4")

3
4" OPEN 3

4" OPEN

'X' 'X'
'A'

 ANGLE 'A'

1:12 173
2:12 168
3:12 160
4:12 154
5:12 148
6:12 143
7:12 139
8:12 135
9:12

10:12
11:12
12:12

Slope Degrees

130
126
123
120



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc Peak / High Side Eave

133
4"

Denotes finished side.F

F

61
8"

3
4" OPEN

55
8"

3
4"

1
2" OPEN

'X'

 ANGLE 'X'

1:12 95
2:12 99
3:12 104
4:12 108
5:12 113
6:12 117
7:12 120
8:12 124
9:12

10:12
11:12
12:12

Slope Degrees

127
130
133
135



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc Peak Cleat

81
4"

Denotes finished side.F

2"

55
8"

5
8"

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc Gambrel Transition

Denotes finished side.F

12"

6"

VARIES

5.25"

3
4" OPEN

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

 MaxLoc Transition @ Roof Membrane

12"

Denotes finished side.F

F

1
2" CLOSED 5"

11
2"

31
2"

1" OPEN

170° 1
2" CLOSED

CLOSED



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc 7/8" Zee Closure

2-7/8"

Denotes finished side.F

1"

7/8"

1"

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc Offset Cleat

3"

11
4"

1
2"

11
4"

150°

F



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

MaxLoc Fascia Cleat

3"

Denotes finished side.F

F

23
8"

5
8"



MaxLoc Custom Trim Sheet 

To  be used if a Custom Trim is Required

www.metalmax.com



Item ID:Description:

Material: Color:Gauge:

Blank Width: Quantity:Part Length: Slope:

Customer: Date:Project:

Custom Trim

Denotes finished side.F



If you have any questions or concerns please contact the MetalMax location     
nearest you.

Thank You for your business!


	Binder1
	Binder1
	Binder1
	Binder1
	Binder1
	Table of Contents
	New PBR Over Open Framing Install Manual. 2pdf (new).pdf
	New PBR Over Open Framing Install Manual
	PBR Set over open framing



	PBR Roof Panels Over Open Framing
	PBR01 EAVE DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR02 BOX GUTTER EAVE DETAIL
	Sheets and Views
	OFFICIAL SET_recover-Model


	PBR03 SCULPTURED EAVE GUTTER DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR04 BOX GABLE DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR05 SCULPTURED GABLE DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR06 VALLEY DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR07 UNIVERSAL RIDGE CAP DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR08 FORMED RIDGE DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR09 FLAT HIP DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR10 HEADWALL DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR11 SIDEWALL TRIM DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR12 HI SIDE EAVE DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR14 PANEL LAP
	Sheets and Views
	OFFICIAL SET-Model



	PBR Wall Panel DetailsPanels Over Open Framing
	PBR14 BASE TRIM DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR15 RAT GUARD DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR16 SILL DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR17 JAMB DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR18 INSIDE CORNER DETAIL
	Sheets and Views
	OFFICIAL SET-Model


	PBR19 OUTSIDE CORNER DETAIL
	Sheets and Views
	OFFICIAL SET-Model



	PBR Roof Panel Trims


	PBR01a SHORT EAVE TRIM
	Sheets and Views
	OFFICIAL SET-Model


	PBR01b LONG EAVE TRIM
	Sheets and Views
	OFFICIAL SET-Model



	PBR002 BOX GUTTER
	Sheets and Views
	OFFICIAL SET_recover-Model


	PBR003 SCULPTURED GUTTER
	Sheets and Views
	OFFICIAL SET_recover-Model


	PBR004 GUTTER STRAP
	Sheets and Views
	OFFICIAL SET-Model


	PBR06 BOX RAKEa
	Sheets and Views
	OFFICIAL SET-Model


	PBR06 SCULPTURED GABLE
	Sheets and Views
	OFFICIAL SET_recover-Model


	PBR02 VALLEY TRIM
	Sheets and Views
	OFFICIAL SET-Model


	PBR03 UNIVERSAL RIDGE TRIM
	Sheets and Views
	OFFICIAL SET-Model


	PBR009 FORMED RIDGE
	Sheets and Views
	OFFICIAL SET-Model


	PBR010 FLAT HIP
	Sheets and Views
	OFFICIAL SET-Model


	PBR013 HI SIDE EAVE
	Sheets and Views
	OFFICIAL SET-Model


	PBR07 ENDWALL.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR012 SIDEWALL TRIM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	Untitled
	PBR05 BOX RAKE.pdf
	Sheets and Views
	Unsaved Drawing-Model


	PBR07 ENDWALL.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR006 SCULPTURED GABLE.pdf
	Sheets and Views
	OFFICIAL SET_recover-Model


	PBR010 FLAT HIP.pdf
	Sheets and Views
	OFFICIAL SET_recover-Model


	PBR05 BOX RAKE.pdf
	Sheets and Views
	Unsaved Drawing-Model


	PBR06 BOX RAKE TRIM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR07 ENDWALL TRIM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR013 HI SIDE EAVE.pdf
	Sheets and Views
	OFFICIAL SET_recover-Model


	PBR04 BASE TRIM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR05 RAT GUARD TRIM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR016 SILL TRIM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR017 JAMB TRIM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR09 INSIDE CORNER.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR08 OUTSIDE CORNER.pdf
	Sheets and Views
	OFFICIAL SET-Model


	CUSTOM TRIM FORM.pdf
	Sheets and Views
	OFFICIAL SET-Model


	PBR002 BOX GUTTER.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR003 SCULPTURED GUTTER.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR004 GUTTER STRAP.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR006 SCULPTURED GABLE.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR009 FORMED RIDGE.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR010 FLAT HIP.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR012 SIDEWALL TRIM.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR016 SILL TRIM.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR017 JAMB TRIM.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	CUSTOM TRIM FORM.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR013 HI SIDE EAVE.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover-Model


	PBR01 EAVE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR02 BOX GUTTER EAVE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR03 SCULPTURED EAVE GUTTER DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR04 BOX GABLE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR05 SCULPTURED GABLE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR06 VALLEY FLASHING DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR07 UNIVERSAL RIDGE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR08 FORMED RIDGE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR09 FLAT HIP CAP DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR10 HEADWALL DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR11 SIDEWALL DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR12 HI SIDE EAVE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR13 PANEL LAP DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR14 BASE TRIM_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR15 RAT GUARD DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR16 SILL DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR17 JAMB TRIM DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR18 INSIDE CORNER DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR19 OUTSIDE CORNER DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR02 BOX GUTTER EAVE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR03 SCULPTURED EAVE GUTTER DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR04 BOX GABLE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR05 SCULPTURED GABLE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR06 VALLEY FLASHING DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR07 UNIVERSAL RIDGE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR08 FORMED RIDGE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR09 FLAT HIP CAP DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR10 HEADWALL DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR11 SIDEWALL DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR13 PANEL LAP DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR14 BASE TRIM_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR15 RAT GUARD DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET_recover_recover000-Model


	PBR16 SILL DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR17 JAMB TRIM DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR18 INSIDE CORNER DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR19 OUTSIDE CORNER DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	PBR02 BOX GUTTER EAVE DETAIL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	PBR06 VALLEY DETAIL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	PBR11 SIDEWALL TRIM DETAIL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	PBR06 VALLEY DETAIL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	PBR08 FORMED RIDGE DETAIL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	PBR13 PANEL LAP DETAIL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	PBR12 HI SIDE EAVE DETAIL_OF.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC EXT EAVE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC EXT EAVE W_GUTTER.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC DRIP EDGE LAP.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC FLUSH EAVE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC EXT DRIP GABLE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC BOX GABLE WITH ZEE CLOSURE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC VALLEY.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC W VALLEY.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC SIDEWALL W ZEE_SIDING.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC SIDEWALL W ZEE_SURF MOUNT.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC SIDEWALL W ZEE_REGLET.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC HIGHWALL W SILL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC HIGHWALL SURFACE MOUNT.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC HIGHWALL REGLET.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC HIP_RIDGE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC GAMBREL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC SLOPE TRANSITION.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC TRANSITION_MEMBRANE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC ZEE CLOSURE INSTALLATION.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	150SL VALLEY W_OFFSET CLEAT.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	150SL VALLEY LAP.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	150SL PANEL END FIELD HEM.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	150SL RIDGE_HIP LAP.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	150SL CURB DETAIL_STEP 1.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	150SL CURB DETAIL_STEP 2.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	150SL CURB DETAIL_STEP 3.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	150SL CURB DETAIL_STEP 4.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	150SL CURB DETAIL_STEP 5.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	150SL CURB DETAIL_STEP 6.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	MAXLOC PIPE PENETRATION.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC PIPE THRU RIB.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	150SL SIDEWALL_WOOD SIDING.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	150SL HIGHWALL W_PARAPET.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	150SL HIGHWALL LAP.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	150SL PEAK DETAIL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC PEAK.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC EXT EAVE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC EXTENDED EAVE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC EXT EAVE W_GUTTER.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23-Model


	MAXLOC 5IN GUTTER.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	MAXLOC EXTENDED GABLE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	MAXLOC BOX GABLE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC VALLEY.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC W VALLEY.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC SIDEWALL TRIM.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	MAXLOC HIGHWALL TRIM.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	150SL 1_25 IN SILL TRIM.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_15_23-Model


	MAXLOC SURF MNT COUNTER FLASHING.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC REGLET.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC HIP CAP.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_8_10_23-Model


	MAXLOC HI SIDE EAVE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC PEAK CLEAT.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC GAMBREL.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC TRANSITION.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC 1IN ZEE CLOSURE.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC OFFSET CLEAT.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC CLEAT.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model


	MAXLOC HIGHWALL TRIM.pdf
	Sheets and Views
	OFFICIAL SET MOST RECENT_6_28_23_recover-Model





